Folie ™ Nuw Opt Laon
Bewels von Lemma 2.46:

- Mgz N Ugaga) M Hot= 1 Uiata)
zeVp
Bu- 0, 0 = Hu= 0y g + lu- U5

2=u-G eV d -
2a) <ute)-Tal =0 A\ -S [ (u-a}) '1*dx

Frctdﬂ'ch:u«a ~ ,
(vgl. Abs.3.4) Cr lu- a‘l..L‘ = Cu-T)' Ig
(Cp+4) lu Uu‘,‘
n L
'“"‘C"uh = |2 |1 =§(%‘(x)) dr= 2 S(i‘u))dx
L= y(....'

Of{enbar qult far den Inder polations feblev &=u-T;

ucx) o
) 20yy) = uexy) ~G() =0
¥4=on

Xea & ¥ QR =90
A -

Folgl.ch %t“ gk
S l2'00 (*dx = S | 2'cx) --— S 2 (g)d'il dx
e Yo S Nre

- = 2(x;) ~30q] = O

2lx)= RSzcxMr y‘ e
[ § (2log) - i'cz))clﬂ dx

-t -1 _ Sz"(‘z)dt

..g [" 54 Sz"(mq dg 12de-9)

X‘_1




